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The figures in the right-hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary

[NEW SYLLABUS ]
GROUP - A
( Accéunting Standards and IFRSs )
| [ Marks : 18 ]
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1.

2.

(2)

Answer any three questions : 6x3
(a) What do you mean by Accounting Standard ?
Why is it needed ? 2+4
(b) Discuss any two mandatory accounting
standards. : 3x2
(c) State the functions of Accounting Standard
Board (ASB). 6
(d) State the objectives of IASB. 6
(e) What is IFRS ? Explain in brief about
implementation of [FRS in India. 2+4
) What are needs for valuation of shares ? State
any two methods. 4+2
GROUP - B
( Advanced Financial Accounting )
[ Marks : 72 ]
Answer any four questions : 4 x4

(a)

Discuss briefly the super profit method for
valuation of goodwill. 4
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3.

(8)

©

(3)

What is Fair Value 7 4

On 1.1.2008, ABC Ltd, issued 4000, 6% .
Debenture of Rs. 100 each at a discount of
10% repayable in 4 years by annual equal
instalments.

Show the Debenture Account till the date

. of redemption. : 4

@)

(e)

)

()

What do you mean by Purchase
Consideration ? How it is calculated? 2 +2

Distinguish between Amalgamatlon and
Absorption. 4

Briefly discuss the objectives of Financial
statements. 4

What is Associated Company ? How does it
differ from a Holding Company ? 24+2

Answer any four questions : 8 x4

(a)

Agarwal & Co. has a loss of profit insurance
policy of Rs.2,10,000. The period of
indemnity is 3 months. A fire occurred on
31st March, 2010.
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(4)

The following information are given below :
Sales Rs.

For the year ended 31st December, 2009 7,00,000
For the period from Ist April 2009 to 3 1st March,

2010 8,00,000

. For the period from Ist April 2009 to 30th June, 2009 1,80,000

For the period from 1st April 2010 to 30th June, 2010 12,000

Standing charger for the year 2009 1,60,000
Profit for the year 2009 50,000
Saving in standing charger because of fire 5,000
Additional expenses to reduce loss of turnover 10,000

Assuming no adjustment has to be made for the
upward trend in turnover, compute the claim to
be made on the insurance company. 8

(b) Discuss with suitable example the concept
of Minimum Rent and shortworkings
related to Royalties Account. 4+4

(¢) On 1.1.2011, X Ltd. issued 4,000, 8%
debentures of Rs.100 each at a discount of
5% and these debentures were redeemed at
a premium of 10% at the end of three years.
Show the necessary Journal entries. 8
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(35)

(d) From the following information calculate the
value.of goodwill by the capitalised value of
super profit method : 8

(i) Average capital employcd in the business
Rs.7,00,000.

| (if) Net trading profit of the firm for the past
three years are : Rs.1,47,600; Rs.1,48,100
and Rs.1,52,500.

_(iif)Rate of interest expected from capital
having regard to the risk involved is 18 %.

(iv) Fair remuf;cration to the partners for
their services is Rs.12,000 p.a.

'(v) Sundry assets (excluding goodwill) of
the firm is Rs.7,54,762.
(vi) Sundry liabilities Rs.31,329.

(e) AY pharma Ltd., who had patented a
medicine, granted DBC Ltd. a license for ten
years to manufacture and sell the medicine
on the following terms : 8

(i) DBC Ltd. to pay a royalty of Rs.10 for
" every medicine sold with a minimum
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(6)

payment of Rs.20,000 p.a. Accounts to
be settled annually on 31st December.

(i) The shortfail in any year may be
recouped from any excess of royaltiers
over the minimum sum in the next two
years subject to a maximum of Rs.8,000
p.a. The number of medicine sold for the
first five years was as follows :

Year ended on 31st December

2009 400
2010 2200
2011 5200
2012 800
2013 4400

Youare required to show the Royalty A/c
and Shortfall A/c in the books of DBC Litd.

() Discuss the necessity for the valuation of
shares of a company. 8

4. Answer any two questions : 12x2

(@) BlueLtd. and Green Ltd. agreed to amalgamate
and to form a new company BG Ltd. On
31.3.2010, the Balance Sheet of the two
companies were as follows :
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(7)

Liabilities Blue I.td. Green Ltd. Assets Blue Ltd. Green Litd.

- (Rs]

Share Capital :
Eq. Sh, of

Rs.10 cach 1,50,000
General Reserve 80,000
P/L Afc 20,000

£% Dcbentures -

Creditors 75,000

Investment

Allowance Reserve  —
3,25,000

- (Rs)

80,000

20,000
60,000
32,000

8,000

2,00,000

{Rs.) (Rs.)
Property 1,05,0000 60,000
Plaat &

Mazchinery 25,000 15,000
Motor Vehicies 10,000 —
Stock 60,000 78,000
Debtors 82;000 21,000
Cash 43,000 26,000

3,25,000 2,00,000

The Assets and Liabilities are to be taken over
at book values with the following exceptions :

()) Goodwill of Blue Ltd. and Green Ltd.
to be valued at Rs.80,000 and Rs.30,000
respectively. |

. (ii‘) Motor vehicles of Blue Ltd. are to be
valued at Rs.30,000.

.(fif)Debentures of Green Ltd. are to be
discharged by the issue of 5% Debentures
of BG Ltd. at a premium of 4%.
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(8)

(iv) Debtors and cash of Green Ltd. are to be
retained by the liquidator and creditors
are to be paid out of proceeds thereof.

'Compute the basis on which shares of Rs.10
each in BG Ltd. will be issued to shareholders
in the existing companies.
Show the journal entries in the books of
BG Ltd. and draw up its initial Balance Sheet

on 1.4.2010.

12

(b) The Balance Sheet of GEMCO STEEL
Casting Ltd. as at 31st December, 2000 is

givenbelow :
Liabilities Amount
(Rs.)
hare Capital ;
Issued and Fully paid shares :
500 Redeemable preference
sh. of Rs. 100 each 50,000

9,000 Equity sh. of Rs.10 each 90,000
Reserve & Surplus :

Share premium 10,000
Capital Redemption Reserve 30,000
General Reserve 20,000
Profit & loss A/c - 25,000
Current Liabilities 30,000

35,000

UG//ACN/H/AH3/16(New)

Assets

Fixed Assets :
Land & Building
Plant

Furniture

) Current Assets ;

Stock 60,000
Debtors 15,000
Investments 28,000
Bank 20,000

Amount

(Rs.)

1,00,000
30,000
2,000
1,32,000

1,23,000
2,55,000

( Continued )



(9)

The Company decided to redeem its preference .
shares ata prefnium of 5% on 1st January,

"2001. The capital redemption reserve
appearing in the Balance Sheet is the reserve
created as a result of redemption which took
place in the year 1996.

A fresh issue of 1000 equity shares of
Rs.10 each was made at Rs.12 per share
payable in full on 1st January, 2001. These
were fully subscribed and all the money were
duly collected. All the investments were sold
out realising Rs.27,000. The directors wish
that only a minimum reduction should be
made in the general reserve.

Show the journal entries including those
relating to cash to record the above
transactions and prepare a Balance Sheet as
it would appear after redemption of preference
shares. " - 12

(c) The Balance Sheets of Mitra Ltd. and its
subsidiary Basu Ltd. on 31st December, 2010
were as follows :
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(10 )

Ldabilitiey Mitraldd. BaswLtd,  Axeny Mitra Ltd,

Bass Lug,
(Rs)) (Ra.) . (Ra) Rs)
Share Capital :
Eg. Sk of Land & Build-

Rel00each  10,00,000  4,00000 Hagsateost  3,10000 1,60,000
GemeralReserve  1,00000 50,000  Machiveryles

PLAJc: : 10% depreciation  2,70,000  1,35000
Balance on 1.1.10 40,000 30,000 3,000 shares in
Profit for 2010 2,00,000 80,000 BasulLed 4,50,000 -
Creditors 150000 170000  Stockatcost 220000 1,50,000
Debtors 155000 90,000

Cash & Bank 85000 1,95,000

14,90,000 730,000 14,908,000 730,000

Mitra Ltd acquired 3000 shares in Basu Ltd.
on lst July, 2010. As on the date of
acquisition. Mitra Ltd. found that the value
of Land and Buildings and Machinery

should have been Rs.1,50,000 and Rs. 1,92,500
respectively. Effect is yet to be given. Prepare
the consolidated Balance Sheet as on
31.12.2010. _ 12

(d) Discuss the objectives and Elements for
preparation of Extenal Reconstruction. 12

[ Internal Assessment : 10 Marks]
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(12)

(5) Share TORTH daERwel § 7 (7 I B

RS BT W | 8 +3
et —v¢
( Ad_vanc.ed Finar‘zciq_l Acc;mnting )
[#7: a3 ]
A A @ 5T Aee Tew we ¢ g8 Xx8
(¥) Goodwill YoBRLA &= super profit method
15 wFeewweet St 7 0 8
(%) Fair Value <oICs & @ ? 8

(%) On1.1.2008, ABC Ltd, issued 4000, 6%
Debenture of Rs.100 each at a discount of
10% repayable in 4 years by annual equal
instalments.

Show the Debenture Account till the date
of redemption. 8

(%) Purchase Consideration 3os & @Rt 7 e
«aft Feit 3t o 7 S &

(6) Amalgamation 932 Absorption 9% W0y
ot T | | 8
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(13)

(5) Financial Statement & StiptgRy Sevwrt

HiTAwat I | _ | 8

(®) Associated Company I3 ? Holding
Company &% 3% €3 *ii€3y § 7 L+
ol @I SR oA T e 8 . ¥Xx8

(¥) Agarwal & Co. has a loss of profit insurance
policy of Rs.2,10,000. The period of
indemnity is 3 months. A fire occurred on
31st March, 2010.

The following inform ation ar¢ given below :

Sales ) Rs.

'For the year ended 31st Decrmber, 2009 7,00,000
For the period from 1st April 2009 to 31st March,

N 2010 $,00,000
For the period from 1st April 2009 to 30th June, 2009 1,80,000
For the period from 1st April 2010 to 30th June, 2010 12,000

Standing charger for the year 2009 1,60,000
Profit for the year 2009 50,000
Saving in standing charger because of fire 5,000
Additional expenses to reduce Ioss of turnover 10,000
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(14)

Assuming no adjustment has to be made for
the upward trend in turnover, compute
the claim to be made on the insurance

" company. v

(%) TgoIo! 7A¥FS TS ASHT @32 O BertinT
T gEie Sage S 3t
9 | 8+ 8

(#) On 1.1.2011, XLtd. issued 4,000, 8%
debentures of Rs.100 each at a discount of
5% and these debentures were redeemed at
a premium of 10% at the end of three years.
Show the necessary Journal entries. v

(%) From the following information calculate the

value of goodwill by the capitalised value of
super profit method : r

(i) Average capital employed in the business
Rs.7,00,000.

(i) Net trading profit of the firm for the past
three years are : Rs.1,47,600; Rs.1,48,100
and Rs.1,52,500.
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(15)

(iif) Rate of interest expected from capital
having regard to the risk mvolved is
18 %.

- .

(iv) Fair remuneration io the partners for
their services is Rs.12,000 p.a.

' .(v) Sundry assets (excluding goodwill) of
the firm is Rs.7,54, 762 '

(vz) Sundry habllltles Rs. 31 329~

(8) AY pharma Ltd., who had patented a’
- medicine, granted DBC Ltd. a license for ten
years to manufacture and sell the medlcme
on the followmg terms : - ¥

() DBCLtd.topaya royalty of Rs.10 for
every medicine sold with a minimum
payment of Rs.20,000 p.a. Accounts to

. be settled annually on 31st December

(n) The shortfall in any year may be
recouped from any excess of royalties
over the minimum sunrin the next two
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(16 )

years subject to a maximum of Rs.8,000
p.a. The number of medicine sold for the
first five years was as follows :

Year ended on 3 1st December

2009 400

12010 2200
2011 5200
2012 800
2013 4400

You are required to show the Royalty A/c

and Shortfall A/c in the books of

DBC Ltd.
(%) «% QAR share TURGH  awEEEO!
ot et 7 | b
81 C1GIW g5 ova Tem we ¢ 33 Xy

(¥) BlueLtd. and GreenLtd. agreed to amalgamate
and to form a new company BG Ltd. On
31.3.2010, the Balance Sheet of the two
companies were as follows :
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(17 )

Liabilitics Biwe Ltd. Green Ltd. Asgets -Blwe Ltd, Grecn Ltd.

(Rs.)
Share Capitsl :

Eq. Sh. of
Rei0esch ~ 1,50,000

General Reserve 80,000

P/L A/ 20,000
5% Debentures -
Creditors 75,000
Investment

Allowance Reserve "

3,25,000 2,00,000

(Rs.)

80,000

20,000
60,000
32,000

8,000

(Rs.) (Rs.)
Property 1,05,000 60,000
Plant & -

Machinery 25,000 15,000
Motor Vehicles 10,000 -
Stock 60,000 78,000
Debtors 82,000 21,000
Cash 43,000 26,000

3,25,000 2,00,080

The Assets and Liabilities are to be taken over
at book values with the following exceptions :

(i) - Goodwill of Blue Ltd. and Green Ltd.
to be valued at Rs.80,000 and Rs.30,000
respectively.

(ii) Motor vehicles of Blue Ltd. are to be
valued at Rs.30,000.

(iii)Debentures of Green Ltd. are to be
discharged by the issue of 5% Debentures
of BG Ltd. at a premium of 4%.
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(18)

(iv) Debtors and cash of Green Ltd. are to be
retained by the liquidator and creditors
are to be paid out of proceeds thereof.

Compute the basis on which shares of Rs.10
each in BG Ltd. will be issued to shareholders
in the existing companies.
Show the journal entries in the books of
BG Ltd. and draw up its initial Balance Sheet

on 1.4.2010.

Y

(%) The Balance Sheet of GEMCO STEEL
Castmg Ltd. as at 31st December, 2000 is

given below :
Liabiliti Amount
‘ (Rs.)
Share ital :
Issucd and Fully paid shares :
500 Redecmable preference
sh. of Rs.100 each 50,000

9,000 Equity sh. of Rs.10 each 90,000

Reserve & Surplus :

Share premium 10,000
Capital Redemption Reserve 30,000
General Reserve 20,000
Profit & loss A/c 25,000
Current Liabilities 30,000

2,55,000
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Assets

Fixed Assets :
Land & Building
Plant

Furniture

Current Assets :
Stock 60,000
Debtors 15,000
Investments 28,000
Bank 20,000

Amount
(Rs.)

1,00,000
30,000
2,000
1,32,000

1,23,000
2,55,000

( Continued )



(19)

The Company decided to redeem its preference
shares at a premium of 5% on st January,
2001. The capital redemption reserve
appearing in the Balance Sheet is the reserve
created as a result of redemption which took
place in the year 1996.

A fresh issue of 1000 equity shares of
Rs.10 each was made at Rs.12 per share
payable in full on 1st January, 2001. These
were fully subscribed and all the money were
duly collected. All the investments were sold
out realising Rs.27,000. The directors wish
that only a minimumi reduction should be
made in the general reserve.

Show the journal entries including those
relating to cash to record the above
transactions and prepare a Balance sheet as
it would appear aﬁer rcdcmptlon of prcference

shares. _ . 3R

(57) The Balance Sheets of Mitra Ltd. and its
subsidiary Basu Ltd. on 31st December, 2010
were as follows :
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(20)

Lisbilities Mitraltd, Basulid dseas Mitraltd Bass Ltd.
@) R ®s) (R

Share Capital: '

Eq. Sk of Lasd & Build-

Re.100each 1008000  4,00,000 <mgsatcost  3,10.000 1,60,000
Gencral Reserve 100000 50000  Mackineryicss

PLAe: 10% depreciation 2,70.000  1,35,000
Balanceon 1.1.10 40,000 30000  3,000sharesin
Profit for 2019 2,00,800 sop0q Basulud 4,50,000 -
Creditors . 150000 170800  Stockatcost 220000 150,000
) Debtors 155000 90,000
Cash & Bask 85000 195000
1490000 730,000 14900086 7,30,000

Mitra Ltd acquired 3000 shares in Basu Ltd.
on lIst July, 2010. As on the date of
acquisition. Mitra Ltd. found that the value
of Land and Buildings and Machinery
should have been Rs.1,50,000 and Rs.1,92,500
respectively. Effect is yet to be given. Prepare
the consolidated Balance Sheet as on

31.12.2010. Y
(¥) Reconstruction &7 =& ¢33 Srey Sriget-
AT [ FA | 7 5

[ weredie ge9r7 ¢ So TR ]
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